Balancing Chemical Equations: Still More Practice

Al + CuO->__ AlLOs+___ Cu
Mg + P, -> MgsP,
_ H3POs+_____ Ca(OH), ->_____Ca3(POs).+ ______H0
_ (NH$LO3->___ NHs;+_____ CO+____H0O
CHg+___ Op->__ CO,+_____ HO
_ NaHCO3+____H.S->___ _NasS+_____ _HO+_____ CO;

calcium + oxygen gas -> calcium oxide

sulfur dioxide + oxygen gas -> sulfur trioxide

copper (I) oxide + hydrogen gas -> copper + water

calcium chloride + silver nitrate -> calcium nitrate + silver chloride

aluminum bromide + chlorine gas -> aluminum chloride + bromine gas

zinc + lead (II) nitrate -> zinc nitrate + lead



